Slap Speed Exercise 2

Berthoud
T = thumb, P = pop, L = left-hand slap
" — [ — [ o o
)42 X X | —
i J d i J L4 o
4 XX _‘I_ P - X x‘ = XX xE
@ & @ - —
?— s
T S— — o
B 57 5-7
O*X*x* 7X7X7X7070737707X7X7 7)(7)(7)(70707107787)(7)(7 7X7X7X7878777

TLTTLTP TPT T T TLtTTL TP TPT T T TLTTLTP TPT T T

@ - -
. #  I— | — e | — @ |
il O | ] < % - |j ) % X - |
X X X | @ || | | @ 1 |
= = = = = =_
T — x x
A 9-10 x 5-7 5-7
B 0—x—x—0—x—x X 0—o0 0—x—x—0—x—x x 0—o0
8—x—x—8—x—x—x—8—8—7 3 7—

TLTTLTP TPT T T TLTTLTP TPT T T TLTTLTP TPT T T

. o S —
e # | ! ! |
: = o -
X X X X I)( X
9-10 x 10-12 x

o>

10-12-10

8*x*x*8*x*><7x7878797*1O*X*x*'lofx*x X
TLTTLT?P TPT T T TLTTLTP®P TPT P p T

o



